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Renewable
Energy
PART A: Grammar and Vocabulary Yol gy
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct AY dxivo G §- dxivo
choice on your answer sheet. Y 51
Art and Culture
. . Y
61- It would cost two thousand dollars ... the old hospital, so we can consider ... the| . “’”’f . .
VY axino YLL G A- dxivo

building to developers.
1) to have destroyed - to sell 2) destroying - to have sold
3) to destroy - selling 4) destroy - sell

62- A: “Excuse me, sir. How can I get to the subway station, please?”

B: “Oh, well. If you ... down the street and ... a bus, you ... off the bus just in front of it.”
1) walk — take — will get 2) walked — took — would get
3) will walk — taking — get 4) would walk — will take — got

63- I don’t know why Alice got greatly ... when I told her the news that Patrick was going to get

married.
1) to surprise 2) surprising
3) surprised 4) surprisingly

64- The manager of the company made a great attempt ... in a financial crisis but the changes in the
value of foreign exchanges have created serious problems.
1) to not be involved 2) not being involved
3) not to be involved 4) not involve

65- The company is likely to have a good future, ... how its well-qualified products are presented to
the market and how the customers respond to them.
1) depending on 2) checking in
3) hanging out 4) turning on

66- My children are really ... to attend an elementary school that has a teacher who cares about his

job.
1) uncertain 2) vast
3) touching 4) fortunate

67- People are poor because they lack relationships with people who have access to ... and power.
1) resources 2) varieties
3) disorders 4) handicrafts

68- Whenever I’m in a\an ... event with my boss, we can’t continue our conversation more than
two minutes.
1) former 2) excellent
3) natural 4) social
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69- The private schools claim that they are doing their best to meet the students’ ... for a better

education.
1) inspirations 2) belongings
3) objects 4) demands

70- Many small countries rely ... on imports and are greatly affected by changes in the global

economy.
1) heavily 2) quickly
3) expectedly 4) orally

71- Some studies have suggested that from an early age, children ... everything going on around

them.
1) confirm 2) pollute
3) promise 4) absorb

72- Power plants which use uranium fuel opened in the U.S. in 1958, since then the problem of what
to do with the ... waste has never been successfully addressed.
1) decorative 2) opposite
3) conditional 4) nuclear

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

The way people in some countries, both developed and developing, use energy is amazing.

Humans ...(73)... a better planet to live on if other people worldwide learn from such nations that
are highly successful in using energy effectively. People in such countries have understood that
humankind cannot depend on fossil fuels such as gas, coal, and oil. They have been able to teach their
present population to ...(74)... less energy. They have already started using clean energy sources.
They get energy ...(75)... from the sun using solar panels. They have even used the ...(76)... energy

in the wind for different purposes. It is a fact that only humans can save the Earth.

73- 1) have 2) had 3) will have 4) would have
74- 1) convert 2) consume 3) need 4) generate
75- 1) directly 2) orally 3) rarely 4) mentally
76- 1) non-renewable 2) solar 3) gradual 4) kinetic

PART C: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice

on your answer sheet.

Scientists are particularly interested in the brains of people who speak more than one language

fluently because that skill is hard to acquire after about age seven. For example, in one of Kuhl’s
studies, native Mandarin Chinese speakers spoke Chinese to nine-month-old American babies for
twelve sessions over four weeks. Each session lasted about 25 minutes. At the end of the study, the
American babies responded to Mandarin sounds just like Chinese babies, who had been hearing the
language during their entire lives (English-speaking teenagers and adults would not perform nearly

as well.).
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If a child regularly hears two languages, her brain forms a different pathway for each language.
However, once the brain solidifies those electrical language pathways by around age seven, it gets
harder to form new ones. By then, a baby’s brain has disposed of or pruned all the unnecessary
connections that the infant was born with. So, if you don’t start studying Spanish or Russian until
middle school, you must struggle against years of brain development, and progress can be
frustrating. A twelve-year-old’s brain has to work much harder to forge language connections than
an infant’s brain does. “We ought to be learning new languages between ages zero and seven when

the brain does it naturally”, Kuhl says.

77- What is the subject of the passage?
1) American babies learning Mandarin Chinese
2) The pathways formed by the brain for learning different languages
3) Learning Spanish and Russian until middle school

4) Language and the brain

78- According to the passage, which of the following is NOT true?
1) Itis hard to learn a new language and speak it fluently after the age seven.
2) Nine-month-old American babies responded to Mandarin sounds as well as Chinese babies.
3) American babies showed no signs of understanding Mandarin after twelve sessions of speaking
Mandarin to them.
4) A twelve-year-old’s brain has to work much harder to forge language connections than an infant’s

brain does.

79- What does the word “ones” in the second paragraph refer to?
1) brain 2) pathways

3) languages 4) connections

80- The word “struggle” in paragraph 2 is closest in meaning to ... .
1) succeed 2) entertain

3) fight 4) agree
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Part A: Grammar

Directions: Questions 81-90 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

81-Jane believes that her team members didn’t win the game because they aren’t familiar with team work,

and ....
1) neither do Diane and Maya 2) her team members did too
3) so does Diane 4) nor does Maya
82-The principal never set the kids the task of clearing the snow from the front path, ...?
1) didn’t he 2) did she 3) do they 4) didn’t they
83-A: What happened to their engagement? B: She ... .
1) broke it off 2) broke off it 3) broke them off 4) broke off them
84-The president said it was imperative that the release of all hostages ... secured.
1) were 2) was 3)is 4) be
85-The secretary asked why the applicant ... legibly in black ink despite her request.
1) hadn’t written 2) hasn’t written
3) would write 4) had written
86-1t goes without saying that it is the speaker, not his ideas, that ... the students to riot.
1) has provoked 2) have provoked
3) has been provoked 4) have been provoked
87-You would obviously save more energy if you ... the lights more often, especially during the day.
1) switch off 2) had switched off
3) have switched off 4) switched off
88-We two had a lot of financial problems, but ... of us wanted to declare bankruptcy.
1) none 2) both 3) either 4) neither
89-Let’s go out for a walk and enjoy this beautiful weather if you have time, ...?
1) shan’t we 2) shall we 3) don’t you 4) do you

90- A: ... in this house?
B: We have been living here for almost 20 years.
1) How much time you have been living 2) How long you have been living
3) How long have you been living 4) How much time have you been living

Part B: Vocabulary

Directions: Questions 91-105 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

91-Economic-development and family-planning programs have helped to stem the ... of population
growth threatening our planet.

1) ethic 2) tide 3) pressure 4) flock
92-The teacher was trying to ... the excited children back to the class after the performance ended.
1) succeed 2) compare 3) generate 4) herd

93-Collisions between galaxies cause star formation and drive the galaxies to ... their gas and dust,
creating new stars.
1) consume 2) magnify 3) establish 4) confirm

94-Large meals put increasing ... on your digestive system since your body is only able to produce a
certain volume of digestive juices.
1) patterns 2) sights 3) dreads 4) demands
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95-The people of Sri Lanka have ... cultural elements from the Arabs, Chinese, Portuguese, Dutch,
and British who have come to the island.
1) collocated 2) introduced 3) absorbed 4) arranged

96-Students must take care to ... all of their sources when writing an essay, otherwise they risk being
accused of plagiarism.
1) distribute 2) acknowledge 3) emphasize 4) reflect

97-The counselors at the career placement office advise students on how to best match their study
experiences to appropriate ... .

1) categories 2) adjustments 3) occupations 4) illustrations

98-As the cost of gasoline goes ever higher, many people are becoming ... with large, inefficient cars.
1) disillusioned 2) prominent 3) affluent 4) distinctive

99-Cell phones ... Internet information and function as cameras, video cameras, and game platforms.
1) reduce 2) mention 3) claim 4) convey

100-Environmentalists have launched a/an ... campaign to fight against the timber company’s plan to
cut down the whole forest.

1) anxious 2) charming 3) vigorous 4) sensitive

101-Words fail indeed to express how ... | am to all those who make things easier for me in my new
career.
1) thankful 2) grateful 3) appreciable 4) respective

102-The customer service department has not come up with alternative approaches to dealing with
complaints, and hence a ... of dissatisfied clients at the door.
1) diary 2) component 3) plethora 4) discount

103-There is no ... in taking a break from your job now and then. Having a good work-life balance is
one of the keys to having a fulfilling working life.
1) damage 2) injury 3) harm 4) destruction

104-The doctor told me that taking those drugs without a prescription could seriously ... my health.
1) protect 2) endanger 3) boost 4) elicit

105-Any delay in delivery of materials will have a knock-on effect throughout the production ... .
1) process 2) margin 3) treasure 4) manner

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice
on your answer sheet.

106-
1) At a length of six meters and a weight of around eight tones, the whale would not be easy to manage.
2) At a weigh of around eight tones and a length of six meters, the whale won’t be easy managing.
3) Not being easy to manage the whale, at a length of six meters and a weigh of around eight tones.
4) The whale, at lengths of six meters and weights of around eight tones, would not be easy managing.
107-
1) The injured animal died during the rescuers’ attempt to lift it used airbags.
2) During their attempt, the injured animal died but rescuers tried to lift it used airbags.
3) Rescuers tried to lift the injured animal using airbags, but it died during the attempt.
4) Using airbags, rescuers tried but the injured animal which died during the attempt.
108-
1) In England, compulsory education is broadly split into primary and secondary.
2) Broadly split into primary that secondary is compulsory education in England.
3) Compulsory education is broad split into primary so secondary in England.
4) Splitting into primary or secondary in England, compulsory education is broadly.
109-
1) These sports which saying to give the rush of adrenalin that some feel is lacking in modern life.
2) These sports are saying to give the rush of adrenalin that some feel is lacked in modern life.
3) These sports which said to give the rush of adrenalin that some feel is lacked in modern life.
4) These sports are said to give the rush of adrenalin that some feel is lacking in modern life.
110-
1) Protect the environment has become the preoccupation of many since 1995.
2) Protect the environment has become the preoccupation of many for 1995.
3) Protecting the environment has become the preoccupation of many since 1995.
4) Protecting the environment has become the preoccupation of many for 1995.



wJtme/Azmoonha_Azmayeshi

<

b amio b3 1 pasio olais! A9 il YY 9051 -€O»855

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.
A: What do you recommend for a main course?
B:We're known for our seafood. The salmon with black bean sauce is our most popular dish and
we have a big surprise served with it which is on the ...(111)... .
111-1) bank 2) place
3) house 4) restaurant
A: Our services for cell phone plans are first-rate. Moreover, we have lots of other options such as
call forwarding and voice mail.
B:1 really don’t need any of those ...(112)... .
112-1) nuts and bolts 2) bells and whistles
3) pins and needles 4) odds and ends
A: We're in deep trouble! Sales are down by 50 percent compared to last year.
B: It looks like we’re going to be ...(113)... for the year to the tune of $1 million.
113-1) in the dark 2) in the black
3) inagrey area 4) in the red
A: Have you heard that the new employee the boss was really hopeful about loused up again? The
boss went ape this time. | think he is completely ...(114)... .
B: Those are the breaks! He ...(115)... to be the cream of the crop here. But like hell he did it, he
couldn’t even crunch some numbers correctly.

114-1) in full cry 2) on cloud nine
3) behind the eight ball 4) out of this world
115-1) went against the grain 2) left no stone unturned
3) made a mountain out of a molehill 4) shot from the hip

A: So, do you think I should go to the movies tonight with Ted or not? I can’t ...(116)... .
B: What do you mean? You haven’t ...(117)... your cold, have you?

A: No, I haven’t. So, do you think I should ...(118)... going with him until another time?
B: That would be my advice.

116-1) play it cool 2) keep a straight face ~ 3) give it a shot 4) make up my mind
117-1) kept off 2) gotten over 3) kept back 4) gotten down to
118-1) put across 2) put off 3) take in 4) take over

A: Professor Mitchell’s lecture certainly went ...(119)... for quite a long time.
B: Yeah, I thought he was never going to finish.
119-1) on balance 2)onand on 3) in a nutshell 4) against the clock
A: lamsorry | couldn’t ...(120)... the central office this morning. The line was engaged all the time.
B: Oh, that’s fine.
120- 1) keep track of 2) get through to 3) hang on 4) get in the habit of

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the

correct choice on your answer sheet.
Our world today is faced with many major threats. The most dangerous threat of all is war. Everyone
in the world ...(121)... the outbreak of a war, especially another world war ...(122)... nuclear
weapons may be used. One main reason for war is a difference in ideology. For example, nations have
engaged in the struggles over the ...(123)... of different systems of government. They frequently aided
other countries in wars in order to ...(124)... governments that have not agreed with their principles.
Land ownership is also a reason that countries declare wars ...(125)... their neighbours. For example,
if oil is found on land in one country and that land can be claimed by another country for historical
reasons, that country ...(126)... war in order to recover the land containing oil. A landlocked country
needing access to the sea may claim the ...(127)... between itself and the sea. Moreover, disputes over
the water rights and the ...(128)... land can turn into war.

...(129)... the destruction of our Earth in a nuclear ...(130)..., countries should try to resolve their
differences through international organizations such as ...(131)... . All countries need to educate their
citizens to be ...(132)... of other ideologies. After all no ideology is worth total ...(133)... of the planet.
In conclusion, there are solutions to the world's problems, and they ...(134)... into practice now
before it is ...(135)... late.
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121- 1) fear 2) fears 3) had feared 4) have feared
122- 1) in which 2) which 3) that which 4) which it
123- 1) assets 2) adversaries 3) perks 4) merits
124- 1) bury 2) hinder 3) topple 4) furbish
125- 1)to 2) at 3)on 4)in
126- 1) would declare 2) would have declared  3) declared 4) may declare
127- 1) territory 2) vicinity 3) velocity 4) tract
128- 1) tangible 2) fertile 3) chaotic 4) sheepish
129- 1) Preventing 2) Prevented 3) To prevent 4) Prevent
130- 1) benefit 2) scandal 3) sacrifice 4) catastrophe
131- 1) the united nations 2) the United Nations 3) United Nations 4) united nations

132-
133-
134-
135-

1) more tolerant 2) more tolerant than 3) as tolerant as 4) more tolerant as

1) dissemination 2) annihilation 3) alienation 4) prohibition
1) put 2) must have been put  3) should be put 4) should put
1) such 2) much 3) enough 4) too

Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by
choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1
Printmaking is the generic term for a number of processes, of which woodcut and engraving are two
prime examples. Prints are made by pressing a sheet of paper (or other material) against an image-
bearing surface to which ink has been applied. When the paper is removed, the image adheres to it,
but in reverse.

The woodcut had been used in China from the fifth century A.D. for applying patterns to textiles.
The process was not introduced into Europe until the fourteenth century, first for textile decoration
and then for printing on paper. Woodcuts are created by a relief process; first, the artist takes a block
of wood, which has been sawed parallel to the grain, covers it with a white ground, and then draws
the image in ink. The background is carved away, leaving the design area slightly raised. The
woodblock is inked, and the ink adheres to the raised image. It is then transferred to damp paper
either by hand or with a printing press.

Engraving, which grew out of the goldsmith’s art, originated in Germany and Northern Italy in the
middle of the fifteenth century. It is an intaglio process (from Italian intagliare, “to carve”). The
image is incised into a highly polished metal plate, usually copper, with a cutting instrument, or
burin. The artist inks the plate and wipes it clean so that some ink remains in the incised grooves. An
impression is made on damp paper in a printing press, with sufficient pressure being applied so that
the paper picks up the ink.

Both woodcut and engraving have distinctive characteristics. Engraving lends itself to subtle
modeling and shading through the use of fine lines. Hatching and cross-hatching determine the
degree of light and shade in a print. Woodcuts tend to be more linear, with sharper contrasts between
light and dark. Printmaking is well suited to the production of multiple images. A set of multiples is
called an edition. Both methods can yield several hundred good-quality prints before the original
block or plate begins to show signs of wear. Mass production of prints in the sixteenth century made
images available, at a lower cost, to a much broader public than before.

136- What does the passage mainly discuss?

1) The origins of textile decoration
3) Two types of printmaking

2) The characteristics of good-quality prints
4) Types of paper used in printmaking
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137-The author’s purpose in paragraph 2 is to describe ... .
1) the woodcuts found in China in the fifth century
2) the use of woodcuts in the textile industry
3) the process involved in creating a woodcut
4) the introduction of woodcuts to Europe
138-The underlined word “distinctive” in paragraph 4 is closest in meaning to ... .

1) unique 2) reasonable 3) irregular 4) similar

139- According to the passage, all of the following are true about engraving EXCEPT that it ... .
1) developed from the art of the goldsmiths 2) requires that the paper be cut with a burin
3) originated in the fifteenth century 4) involves carving into a metal plate

140- According to the passage, what do woodcut and engraving have in common?
1) Their designs are slightly raised.
2) They achieve contrast through hatching and cross-hatching.
3) They were first used in Europe.
4) They allow multiple copies to be produced from one original work.

PASSAGE 2

Panel painting, common in thirteenth and fourteenth century Europe, involved a painstaking
laborious process. Wooden planks were joined, covered with gesso to prepare the surface for
painting, and then polished smoothly with special tools. On this perfect surface, the artist would
sketch a composition with chalk, refine it with inks, and then begin the deliberate process of applying
thin layers of egg tempera paint (egg yolk in which pigments are suspended) with small brushes. The
successive layering of these meticulously applied paints produced the final translucent colors.

Backgrounds of gold were made by carefully applying sheets of gold leaf and then embellishing or
decorating the gold leaf by punching it with a metal rod on which a pattern had been embossed.
Every step in the process was slow and deliberate. The quick-drying tempera demanded that the
artist know exactly where each stroke should be placed before the brush met the panel, and it
required the use of fine brushes. It was, therefore, an ideal technique for emphasizing the hard linear
edges and pure, fine areas of color that were so much a part of the overall aesthetic of the time. The
notion that an artist could or would dash off an idea in a fit of spontaneous inspiration was
completely alien to these deliberately produced works.

Furthermore, making these paintings was so time-consuming that it demanded assistance. All such
work was done by collective enterprise in the workshops. The painter or master who is credited with
having created the painting may have designed the work and overseen its production, but it is highly
unlikely that the artist’s hand applied every stroke of the brush. More likely, numerous assistants,
who had been trained to imitate the artist’s style, applied the paint. The carpenter’s shop probably
provided the frame and perhaps supplied the panel, and yet another shop supplied the gold. Thus, not
only many hands, but also many shops were involved in the final product.

In spite of problems with their condition, restoration, and preservation many panel paintings have
survived, and today many of them are housed in museum collections.
141-What aspect of panel paintings does the passage mainly discuss?

1) Famous examples  2) Different styles 3) Restoration 4) Production
142-The underlined word “it” in paragraph 1 refersto ... .
1) chalk 2) composition 3) artist 4) surface

143-Which of the following processes produced the translucent colors found on panel paintings?
1) Joining wooden planks to form large sheets
2) Polishing the gesso
3) Applying many layers of paint
4) Covering the background with gold leaf
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144-The author mentions all of the following as problems with the survival of panel paintings EXCEPT ... .

1) condition 2) theft 3) preservation 4) restoration
145-What characteristic of tempera paint is mentioned in the passage?
1) It dries quickly. 2) It is difficult to make.
3) It dissolves easily. 4) It has to be applied directly to wood.
PASSAGE 3

146-

147-

148-

149-

150-

School textbooks today reflect the changes that are taking place in American life. Female textbook
characters are no longer just wearing aprons and cooking dinner. Females can also be seen working
with carpenter’s tools. The males, meanwhile, now enjoy cooking as much as batting a ball around.
Moreover, dad is as likely to be doing the laundry as mom. Today’s book publishers are responding
to new feelings about how children develop roles. Many people believe that limited, narrow roles are
imposed upon children at a very early age through the toys they play with and the books they read.

As a result, publishers have invoked guidelines for changing the images of males and females in
children’s books. They are attempting to change the language and show men and women in a number
of different roles. New books show parents sharing household tasks, working mothers, and stay-at-
home fathers. A dentist or doctor is just as likely to be a female as a male. Job titles have changed as
well: “mailmen” are now called “letter carriers”, “workmen” are now called “workers,” and “fire
fighters” have replaced “firemen.”

By rejecting the conventional portrayal of women and men, textbook publishers hope they have
taken an important step toward freeing society of unfair prejudices. Perhaps it will take as long as a
generation to determine the effects of these changes on young men and women.

How have publishers revised their textbooks?

1) Males and females are shown in different roles.

2) Only the traditional male-female roles are portrayed.
3) More stories about less common jobs are emphasized.
4) Younger children are now portrayed.

The second paragraph is mainly about the influence of ... on the role development of young children.
1) clothes 2) children’s books
3) art and music classes 4) school lunches

Which shows that men and women can perform the same job?

1) A picture of a woman cooking

2) The word “craftsmen”

3) Fire fighters being called “firemen”

4) Mailmen being called “letter carriers”

Which story might you find in a modern textbook that you would not have found years ago?
1) A story of a male doctor

2) A story of a female rodeo rider

3) A story of a girl training to be a nurse

4) A story of a man’s success in the business world

The underlined word “invoked” in paragraph 2 means ... .

1) insisted 2) demonstrated
3) called forth 4) canceled
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